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Psychology

Paper 1II

e ICRIE
gyatrent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U1 3Ted. @d U Wred.

AT : AT GLAYehd THUT IR (100) FTgaarn Ted fored oTed. Jcieh Jemen & (2)

Q. Nos 1 to 6 are based on the
following paragraph :

Read the following paragraph and
answer the five questions that
follow :

A researcher wanted to predict
creativity scores (n = 200) using
intelligence (measured by SPM, and
Cattell’s Culture Fair Test — CCFT),
five domains of the big-five variables
(N, E, O, A and C), previous
participation in innovation training
(Participated/not participated). The
multiple regression analysis with
intercept term. The VIF for SPM is
4.2. The model RZ = .65 and
Adjusted R2 = .63. Model F statistics
was 44.89, P < .001. The significant
b values with SE in bracket are
CCFT = .83 (.07), N = — 0.34 (.08),
Openness = .42 (.06) and conscien-
tiousness = .23 (.08). Training
(participants coded as 1 and non-
participants coded as 0) was
insignificant.

gyq HEIT 1 94 6 Wreit faaedr
YRR3R e g

qeid qR=es ar= Sl SEelt sheted
I G WAl

g™ gfga (TH.9.TH. o
FHIAAT TEpda UL ATAUIER
STl ), do9esh 9eg (T, 8, 37, T
aqfor ©t) =21 9T SISk, TaehedHl UiRieTo
(FRYFT/TearT ATEl) Il oI hed
TSRIeal Wseh (n = 200) 3T
I 8. STSETHE TehTTeeh GHISEA
favaoor e Har TH.HLUE. et
ELATA.TH. 4.2 3. HATSAHIS!
R? = .65 7o gamEfs R2 = .63, Aew
F = 44.89, P < .001 3Tg. @ieds ‘=ff
TR’ A TEE T oed. AL Th..
= .83 (.07), T = — 0.34 (.08), T4
= .42 (.06) 7T fgaskarct = .23 (.08).
TTRT&0 (FEUE 1 kIS shel STIUT HgwRiT

O 0 HIS) el Bl

[P.T.O.



The VIF measures :

(A) Percentage of variance

explained
(B) Heteroscedasticity
(C) Multicollinearity
(D) Residual standard error

Research concluded that SPM
cannot predict creativity but CCFT

does. This conclusion ignores :

(A) Linear dependence among

predictors

(B) Linear dependence of criterion

on predictors
(C) Heteroscedasticity of SPM

(D) Difference between R2 and
Adjusted R2

The regression and residual degrees
of freedom for the entire model

respectively are :
(A) 7 and 199
(B) 8 and 199
(C) 9 and 198

(D) 8 and 191
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FHAATH. HIME [T Hd 2

o (al N

% hocdl fagaHEl e

(A)

g

(B) &

(C) AEIRIANMTIRIE
(D) 3TEf¥T AF® YA

geheeht st ween &1 TE.ULEd.
HSITeTan STETS ¥ ¥ehd ATel Wi .
W.OR. & w1 7 FThs hemene o
H ?

(A) SPRTSRMETA T sTecfoc
(B) 3facidl gREdwm=! STSTehiaxid

SR

(AW oS

(C) TE.U.TH. 9 TG SRIE]

(D) R2 e1for garfsa R2 <™ e
YUt AISTHIS! W= 0] AT okt

THIUEEAT 3T

(A) 7 3Tfor 199
(B) 8 3mfor 199
(C) 9 3mfor 198
(D) 8 aur 191




The adjusted R2 is an adjustment

in R for :

(A) Scale of measurement
(B) Increasing regressors
(C) Sample size

(D) Spearman’s R

In the above example, previous
participation in innovation training
is a :

(A) Categorical criterion variable

(B) Unsuitable variable in
regression due to categorical

nature
(C) Dummy variable

(D) Moderator variable

JUN - 13219/11—B
FHREITST R2 ® R 78 SheEe= GHREINH
3 ?

(A) HroT gof

(B) A&l QSR

(C) YT 3R

(D) THWHA 3TN

U SETEXOMHE, Taeheq FIRTeTor He

A 98Yr i AR ?

(A) Tia ey Ruea

(B) ot TEUTes THISEA STRvATd

AT

(C) =Ht uferdeh

(D) #relR ufEads

[P.T.O.



The significance of B value
indicates :

(A) Population beta is non-zero
(B) Population beta is high
(C) Sample beta is high

(D) Model has high AIC

Item bias in the test can be studied
by comparing :

(I) Item difficulty level across
different groups with different
backgrounds.

(IT) Average performance of two
groups on overall test.

Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)
(D) Neither (I) nor (II)

To increase the overall difficulty
level of the test which of the
following items could be added in the
test on the priority basis ?

(A) An item with P = 0.12
(B) An item with P = 0.45
(C) An item with P = 0.20
(D) An item with P = 0.87

6.
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ot goara Wefwar gied L Ao

(A) SHEE e SR 3T

(B) AT de 3= 3R

(C) H el 3I== e
(D) Wied 3=a T.E.H. TR
FrEvitaed faem qeusEn e I

qol wEA el Sl

(1) o= A= SRTerTese FHgeRe

faum =ifera gea.

(ID) =r=ofiaid SF g HOEiEd
A

Hehdich

A) ®wF (D)

(B) wad (ID)
(C) (D) anfor (ID) <2
D) (1) =7t (II) St et

ElERiCIRte A CARRINCIRCIE ERRIEI )
TeATTdsh! HI0d faeM gTem=sAe

T FHIAS. Sl SIS ¥ehd. 2
(A) P = 0.12 318t faem
(B) P = 0.45 318cicl faum
(C) P = 0.20 3r&ciel faem
(D) P = 0.87 38l faum




10.

11.

During depolarization the mem-

brane opens :

(A) Sodium gates
(B) Potassium gates
(C) Chlorine gates
(D) Calcium gates

The Genain quadruplets are known

because :

(A) all became artists

(B) all developed schizophrenia
(C) all were conceived with IVF
(D) all died early

Sumit is asked to repeat what his
mother just told him. He says he
“forgot’ but in reality Sumit was not
paying attention to his mother at all.
This is an example of the .............

explanation of forgetting.
(A) Interference

(B) Memory trace

(C) Encoding failure

(D) Repression

10.

11.
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(A) @ifesm
(B) drEfeEH
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(D) feermA
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(A) T for T
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Tuifer.

(A) =T
(B) Hfae™
(C) Hohad 7999

(D) STEY THO
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12.

13.

The staircase method is a measure
Of coveeeine, threshold.

(A) Absolute
(B) Difference
(C) Sensory

(D) Estimate

According to componential theory, in
addition to intrinsic task motivation,
which of the following represent
components are essential for

generation of creative responses ?

(A) domain skills, creativity
processes, intrinsic task
motivation and social
environment

(B) domain skills, cognitive
processes and social
environment

(C) domain skills, curiosity

processes, intrinsic motivation

and psychological environment

(D) knowledge, creativity processes,
intrinsic motivation and social

environment

13.
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Teeh 1 THGIAER, At Fdl Jorge

B stfyeh, wstRier sHfsden fftdiam

EATCTUh ] ShIUTd S2eh Ffaf-Tele shiard ?

(A) &5Tg HI3ed, FeAeid gfeman,
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(C) &5 v, foiamen ufsran, e1afies

JLo S7for HEfges STaren

(D) T, SR Gihan, Adie JTom

Sfor graTfSieh aTdTaon




14.

15.

Which of the following is correct
alternative for the “Assertion and
Reasoning” statements ?

Assertion (A) : Neither trait nor
type theory can explain total
personality.

Reason (R) : Personality is the
interactive product of individuality
and environment.

(A) (A) and (R) are both true and
(R) is the correct explanation
for (A)

(A) and (R) are both true but
(R) 1is the
explanation for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

not correct

(©)
(D)

According to self-discrepancy theory,
self-regulation is directed by, ‘self-
guides’ which involves comparison
between ............. ,and ............. , and

(A) Ought self, perceived self and
ideal self

(B) Perceived self, social self and
real self

(C) Real self, ideal self and
perceived self

(D) Actual self, ideal self and ought
self

14.

15.
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faum enfor &R faemEES et
3 T FIUE AR ?
faeam (A) : 7o fomiw fagra fepan i
g S Tl fRaTe TR
h& YEhd TR

HIUT (R) : AfdH<a § AfeaiTaar ST
TRE9 =1 AT HIATHE I 3T,

(A) (A) =701 (R) ® S8 SIeR 3ATed
A0 (R) ® (A) ¥ IFT TIShT]
3T

(B) (A) 3701 (R) § Sl SRIeR 3Ted
o (R) & (A) = 4T Sy
B

(C) (A) s 38 g (R) & I 3T
(D) (A) I 3¢ W (R) § SR TR

(A) zfesa @, gafqa @ oo sTesl @

(B) Hafed @, Tttt @ 3for g

o
(C) dard &, 3TEyl & 3oy Hafea @
(D) TIel @, 3Teet W 2y sfesd @
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16.

17.

18.

Delegative leadership style is
typically characterized by

(A) Power handed over to followers,
yet leaders take responsibility

for the group’s actions

(B)

Leader monitors closely to
enforce rules, give rewards and

punishments

(C) Leader convinces followers to

buy into their ideas

(D) Leader supervises and exerts

complete control

The following has not been

researched as a parenting style :
(A) Authoritarian

(B) Permissive

(C) Authoritative

(D) Punitive

Chronic stress increase is associated
with :

(A) Hypertension
(B) Type-1 diabetes
(C) Type-2 diabetes

(D) Coronary Heart Disease (CHD)

16.

17.

18.
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TR GI& oA gl et & fosoa:
RN STyt TR
(A) STTIEM ATHRR e STHe ags

HHRMAT Fdel Ad Seleqi =
3Tard

(B) wd frzm, forem omfor wifarfores

TS HIBSIYaieh STHATEIN
A A

(C) Ad T heddl AT STTATA

TR Hd e 9ad qd

(D) qui o= S@Te ST R

AT ShTH Ad hidd

rerehed el &N A Telid I5deR
G Heid &

(A) sAfemram!

(B) SSREd!

(C) eferamrt

(D) forem oM

(A) efaam

[a)

sy

fal

ALY
(D) ST TR (H.TE.E1.)

(B) UhR-1 S

(C) UHhR-2 S
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19.

20.

Prejudice and discrimination persist
because they promote ................ says
functionalists.

(A) Dignity

(B) Social stability
(C) Harmony

(D) Self-enhancement

Match List-I with List-II and select
the correct answer using codes given
below :

List I
(P) Shahada
(Q) Salah/Salat
(R) Zakat
(S) Siyam/Sawn
List II
(1) Charity
(2) Prayer
(3) Fasting
(4) Faith
Codes :

P Q ® ©)
A & 1 @ @)
B @ @ 6 @
< @ @2 @O G
O 1 & @ @
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19. TR oTfo1 95w feshd Tedm &R

qrel Idl hida o9
FrdR] TRUM.

(A) AR
(B) HmHifsier w8

(C) g&aR
(D) =-Haga

20. IRi-1 707 AET-IT A= vt 4. Jeid

%iq:)dlt{l dqY shed I I 9l ¢
arer-1

(P) 3T@I_T

(Q) Heire/Heerd

(R) &eh1d

(S) THam/&H
arer-11

(1) <™

(2) e

(3) I9a™

4) #51, fovem

Hehdlah :

P) Q @® ()
Aa & O @ @
B 2 @ G @
< @ @2 @O O
D @O B @2 @

11

[P.T.O.



21.

22.

Which of the following is/are source/s
of error variation in the test-retest

reliability study ?

(I) Temporal stability
(II) Content of the test
(ITI) Individual variation
(IV) Test administrator
Codes :

(A) (I) only

(B) (II) only

(C) (I) and (II) only
(D) (III) and (IV) only

Item characteristic curve theory

(ICC) is also known as :

(A) Latent trait theory

(B) Multidimensional trait theory
(C) Test Standardization theory

(D) Construct validation theory

JUN - 13219/I1—B

21. FEUI-YAAE0 fovaaHaar A

T YU SH hI0G 2
(I) hifeten TR

(I1) =T=oi=n 3T

(I11) SaferTer 9=l

(IV) =T=oft JeTmeh
Hehdich

(A) & (D

(B) wa (ID)

(C) ®ad (I) e7for (II)

(D) e (L) Afor (IV)

22. faum favvan o fag@ =1 @M ga

AresEel Sal

(A) g< T fagid

(B) sigewit Tuifaws fagia

(C) ==t JHOTeR fagrd

(D) G Sufaeto fagid

12
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23. Choose the correct statement with | 93  sgue SeEdg FIvE IR TS
respect to sense of hearing : > )
(1) Pitch and loudness are the ‘
same. (1) @A 9 HHaeal Thd 9.
(2) Frequency is measured in 9) SR %é%{q%@f el
hertz. @)
(3) Intensity corresponds to (3) ol 9 eafHedl qdIad Jeadrq
loudness exactly. @) < > o N
(4) Amplitude is measured in
decibels. (A) & (2) 0T (4)
(B) (3) and (4) only
C) W (1), (3) 3fur (4
(©) (1), (3) and (4) only (©) a1 (1), @) s (4
D) (1), (2), (3) and (4) (D) (1), (2), (3) 3701 (4)
24. When simple and symmetric forms | 24. g @18 2701 THECE SRR STHHACTYE
complicated and asymmetric forms. | ... 5
This law is known as .............. ekt e S
(A) Law of closure (A) FfeEdn e
(B) Law of common fate (B) WM <a fom
(C) Law of Pragnanz (C) arefmvfa=n fem
(D) Law of Similarity (D) T ey
25, e theory stated that high | g5 fagTa o8 giques s
arousal leads to greater selectivity F SS9 WO B Oes Freewdse W
and is thus beneficial only when I Seel qer e gaaE frere
monitored. G
(A) Cue-initiation (A) T TEHR
(B) Cue-processing (B) Hahd wfwan
(C) Cue-utilization (C) THa amR
(D) Cue-completion (D) Geha g
13 [P.T.O.



26.

27.

According to which of the following
theories is creativity seen as a

‘precondition to intelligence’ :

(A) Guilford’s theory of Creative

processing

(B) Gardener’s theory of Multiple

intelligence

(C) Sternberg and Lubart’s

Investment theory

(D) Cox’s theory of Creativity and

Intelligence

Which of the following statements
is not true about Goleman’s

intelligence theory ?

(A) Identifying emotions at a non-

verbal level

(B) Regulating emotions to
manipulate others
(C) Understanding conveyed

emotions are actions they

generate

(D) Using emotions to guide

cognitive thinking

26.

27.
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TICATCUeh! ShioTe FIGTAER Hsieiterdr

‘Figaw= gEse’ wUE wifeelt S ?

(A) frawesl foufes wfwa=n fagm@

(B) agfay qfgawan mMeEaan fagd

(C) weHant a7 Famea Taevs fagia

(D) ierT Heieiieran 1T g o
REAR

Ter= gfgw fagiafaseh Treferient

Hod faum g A ?

(B) TH-ATH S0 OIS H

IERLE T

(C) HifiTaciean YTeHT THST0 TgUTS! <=1
ol Fard fHoT o

(D) ST foamAT ArieRie huarEma

N N N
HGTHT SYHNT h U]
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28. The potentiality of any behaviour’s | 28. TIUICATEl WeleiTehivrea —=ATE Hel LT
occurring in any situation as TqYe® horedl TR =€d Jum=n
calculated in relation to any set of RIS A favEar mo
reinforcement is called as :

(A) wFfgs i
(A) Psychological situation
(B) HocAR{0T o
(B) Reinforcement value
: : (C) = favwaa
(C) Behaviour potential
(D) Expectancy (D) STHeTaEe

29. According to Eysenck, Personality 29. STAH=A HATHR, SAfRTriret fira
differences arise mostly from : T
(1) Environmental differences (1) wafoRoTeHe i
(2) Biological differences (2) Sifees =
(3) Social and cultural differences (3) WIS oMo Wrepfaeh fa=ran
Codes : Hehdlh
(A) (1) only (A) % (1)

(B) (1) and (3) only (B) ®ad (1) 3Tior (3)
(C) (2) only (C) ®a (2)
(D) (2) and (3) only (D) w0 (2) o (3)
15 [P.T.O.



30.

31.

Which is/are the function/s of

emotions ?
(1) Preparing us for action.
(2) Shaping our future behaviour.

(3) Helping us interact more

effectively with others.
Codes :
(A) (1) and (2)
(B) (2) and (3)
(C) (1), (2) and (3)
(D) (1) and (3)

is a strategy for making

social judgements based on the
extent to which current stimuti or

events resemble other stimuli.
(A) Prototype

(B) Representativeness Heuristics
(C) Attribution

(D) Availability Heuristics

30.

31.

JUN - 13219/I1—B

W=l hTE RO TR ?

(1) STIUE FHdEe TR .

(2) 3T et IaTa AR HdTd.

(8) STIUMH SaUaeR TiuTHHRT S

\:Hid{i;hm S UY[H Hqd <h{dld.
Hehdiah :
(A) (1) =nfor (2)
(B) (2) =nfor (3)
(C) (1), (2) amfur (3)
(D) (1) =for (3)

HSA-FET TR gy fepar
e gkt gHONG SATEnRa ST
TSR fof gaus faior seoamen

(A) stfcey
(B) Tt wfatfed

(C) Smya Turaferses

(D) TeTH SYAIT

16



32.

33.

34.

The psychological term used for the
advertisement shown during movie
breaks on hazards and risk of
smoking and chewing tobacco

(A) Public appeals
(B) Fear appeals

(C) Public awareness
(D) Social awareness

Jerome Bruner gave the concept
of :

(A) Cognitivist theory

(B) Attachment theory

(C) Object relations approach
(D) Universal grammar

The following are cluster B
personality disorders :

(1) Schizotypal

(2) Borderline

(3) Histrionic

(4) Antisocial

Codes :

(A) (1) and (2) only

(B) (1), (2) and (3) only
(C) (2), (3) and (4) only
D) (D), (2), (3) and (4)

32.

33.

34.
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foeTe TR HEY g 9 e
wUgTeAT  eneatfasEt sar sferdt
SEEdId, <Al AAEITSE 9o 3

Harae

(A) Fehe AERA

(B) iditer e afrermeH

(C) wrfes wHIS]

(D) wrHifSih 9AgGl

SH R M & Hehed 1 AiESal
(A) arenferes fagia

(B) Herwan fagid

©)

Y] T 3T ( 3ifesire Rererd
3G

CIrEERC e

(D)

ETeta qaifasdl & Feaeel &t

HAfkaa faspdl eTea
(1) fergifers

(2) SiSTeTEA

(3) fefegerfen

(4) TR

Hehdlah :

(A) & (1) =AM (2)

(B) WK (1), (2) 70T (3)
(C) ™ (2), (3) M1 (4)
D) (1), (2), (3) A (4)
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35.

36.

317.

Post-traumatic growth refers to :

(A)

Negative outcomes arising from

traumatic experiences

(B)

Negative outcomes characterize

from PTSD

€

Positive outcomes arising from

traumatic experiences

(D)

Positive outcomes arising from

character strength

According to Islam ‘Shahada’

means :
(A) Prayer
(B) Charity
(C) Faith

(D) Fasting

is a perspective which

believes that a great deal of human
life exists as it does due to social and

interpersonal influence.
(A) Social communism
(B) Social attitude

(C) Social constructionism

(D) Social development

35.

36.

317.

JUN - 13219/I1—B

SRR G a1 ML Soerel Fld

(A) ATHATAST  STLVATIA  ThTUHS
et frmfor 2

(B) 3R« faepet (f.1TqEl)

TR TeREE et aferseegt

(C) ATHTAS= ATHAT]T HhTcHh
feaeii=i fAfiedt a9

(D) =i aHeaiqd e it
Bid

TRTHIER YRRl WO
(A) W

(B) <M

(C) forgam

(D) 39

TSR (0T STaeAfeeh  JTaTTHToy
el Sfed "igam YHIomeR. AR cTa

e AR fogar Saum=an itk
.................. 31@. W,

(A) FHIS HEIFE AAYITelt
(B) HrHTfSieR  3tfe

(C) HMIfSIeh FLEATER

(D) g faem

18
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38. In experimental designs randomiza- | 33 grNfiter IRTEETTE agfess Tgdh
tion of subjects achieves which one TR faemToh e EreetE w1
of the following ?

& A FH T 2
(A) Distribution of subjects in all ) )
N (A) T Temel yEEn faamTelt gh
the conditions
(B) Control on unwanted variance (B) SIS HETR e
(C) Control Type-I error (C) YFR-I YHEER =0
(D) Economy in sample size (D) TAEEHA F9d

39. What is/are true about grade | 39. Ui UM HMGITIRE HEF TR
equivalent norms ? Mg ?

(I) Itis an average performance of (I) T saueia foemests wued
students from a grade. FAeT BN T 2.

(Il) It is commonly used as norms (II) 99=a: &T9dT =Sraodedie |
for ability tests. A T

(IIDIt is commonly used as norms (IID) Y FEY0 GUEA Sr=vare 7
for achievement tests. TEUH ST

Codes : Hehdieh :

(A) (I only (A) Tk (D

(B) (II) only (B) e (II)

(C) (I) and (II) ©) D 3:|-|-ﬁj-[ (ID)

19 [P.T.O.



40. Which of the following is the

41.

42.

most appropriate description of a

psychological test ?
(A) It is a self report measure

(B) It is a measure of conscious

behaviour

(C) It is a measure of sample of

behaviour

(D) It is a standardized measure of

a sample of behaviour

The vagus nerve does not handle

this function :

(A) Taste

(B) Laryngeal control
(C) Neck sensation
(D) Hearing

Mild cognitive impairment is a stage

between :

(A) Borderline IQ and mild MR
(B) Clear and clouded sensorium
(C) Normal aging and dementia

(D) Delirium and dementia

JUN - 13219/I1—B

40. HFERTSE SMEUE Geteideh] hiod

41.

42.

Ui T AT 3T ?

(A) TE-IArd HIYT HAT

(B) HallY odTa HIYA Hidrd

(C) Tt CRE| -15,«4@ HIYT hIdld

(D) ST TRl THAT IO A=

e {dld

oo = & foRA B A
(A) ==

(B) TR fesm

(C) WA Hog

(D) &Eu

=1 e |9 & Srere Teftet 2o
TUSTAT Sl ¢
(A) Hromadt g5t 9 9 gfaded

(B) T2 g 37 Agd

(C) THMEMNT IIMHME 9 AgHA%hdl

(D) wifd o TIHTRT

20
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43, e is the science of the life | 43. STEFH STAFAT WA 1w AW
giving substance. g o e AR,
(A) Existential phenomenology (A) FARGEERT THET]
(B) Philosophy (B) dxeR™
(C) Spirituality (C) TR
(D) Anthropology (D) AFIESTETE
44. Level of significance (alpha) is : 44, AUIA Ut (SATH) FUNS T
(A) Probability of type I error (A) YHR T THETE S
(B) Probability of type II error (B) YR II YHEE G
(C) 1-(Probability of type I error) (C) 1R I TR G
(D) 1-(Probability of type II error) D) 1-FR 11 FeREt g
45. The outermost layer of the meninges 45, TREEEOTIE wE TR SR 3
is :
R
(A) Pia mater
(A) Hg 3TeRT
(B) Arachnoid layer
(B) el A
(C) Skull
(C) whadt
(D) Dura mater
(D) T2 3R
21 [P.T.O.



46. Match column-I and column-II using

the codes given below :

(P)
(&)
(R)

(S)

(1)
(2)
3)
(4)

List I
(Concepts)
Structuralism
Functionalism
Transpersonalism
Co-operative inquiry
List II
(Theorists)
John Heron
Wilhem Wundt
William James

Abraham Maslow

Codes :

(A)
(B)

(®)

® Q@ ® 6
2 & @ @
o @ & @
38 @ @O @

M @ O @ G

JUN - 13219/I1—B

46. @l foodiear dehdiepran SUAN HEd

wWY-1 ofor wWy-I1 Befted Sire=n e
wWa-1
(TR
(P) SR
(Q) HreTg
(R) =AfRIE TR
(S) FewmERie =ehel
W11
(fregiaam)
(1) S\ &\
(2) faeom que
(3) fafeam smyq
(4) omen el
Hehdiah :

P) @ @R O
A @ & @ @
B 1 @ 6 @
< & @ @O @
D @ @O @ O
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47. Which of the alternatives is correct | 47. ‘faerg =rfor o’ a1 geuld«a
for the statements of Assertion and R S A : .
Reason ?

faam™ (A) : TvdyfE g T
Assertion (A) Charmaz
constructionist approach to Seiceh glbeenlt %qua‘ﬂ il T
grounded theory is similar to NI R,
discovery model of grounded theory. ~ _
0T (R) : HMHEISTh THATCHSh IR
Reason (R) : Social constructionist )
3T HHEAl i Gheddl & ad ST
approach believes that concepts are
constructed and ‘why’ questions can [T SR FERS FEA S
be answered while preserving the qrTSTeR e foerset E’fﬂ'@f{ feean
complexity of social life. S ST
Codes : o
Gehdich :
(A) Both (A) and (R) are true and
(R) is the correct explanation A) @A) (R) & <=1 9 3TTe
of (A) (R) ¥ (A) ¥ 419 TIh0 .
(B) Both (A) and (R) are true, but (B) (A) 31 (R) ® 91 T 3 ‘:R_gl,
(R) is not the correct
(R) T (A) I AT TR0 AT
explanation of (A)
(©) (A) is true but (R) is false (©) (&) ¥ 3 ™Y (R) 790
(D) (A) is false but (R) is true D) (A) A 38 W (R) § 3T
23 [P.T.O.



48.

49.

50.

Stanine scores are used for the

interpretation of ..........

(A)

Interindividual differences

(B)

Developmental changes within

an individual

(C) Normative scores of personality

test only

(D)

Individual differences in ability

test only

To study the unidimensionality of a
test which of the following could be

appropriate ?

(A) Test-retest reliability

(B) Alpha reliability

(C) Alternate form reliability

(D) Correlating the test with

another test

Sagittal view of the brain means :

(A) The brain bisected into right

and left

(B) The brain viewed from behind

(®)

The brain seen from the front

(D) The brain seen from above

49.

50.

JUN - 13219/I1—B

(A) STaafoRdeh fa=Tan

(B) Fildicl SJehiaeh ded

(C) AfFA =TT=0E YHIUI  9TadTeh
Thed

oo o o

(D) &\l =Tl SRl Thad

ThHOEHEal TS

WAt IO 3fad 3R ?
(A) =SrFo-gAaTa faveHie
(B) ofew faga@Hraan
(C) wardEy fawerraa

(D) =Tevien TE ARl Hehed
ey

[a VY
ELEKIE]

TGl STUYE g UN

(A) Hg I 9 SAT 9FTE a9

(B) U1 UGHRAET SiedH

(C) ¥Hg=n ge=AT dd difgeran gfteehia

(D) Hg=n a&A Uifeeian gftesm

24



51.

52.

Psychopathology involving
executive function can be localized
in the :

(A) Occipital lobe
(B) Frontal lobe
(C) Parietal lobe
(D) Temporal lobe

Match List-I with List-II and select
the correct answer using the codes
given below :

List-I
(Midbrain Structure)
(P) Superior colliculi
(&)
(R)
(S) Ventral tegmentum
List-II

(Function)

Inferior colliculi

Substantia nigra

(1)

Guide eye movement and gaze
fixation

(2)
3)

Integrates movement.

Rewarding effect of food, sex,
drugs.

(4) Localize sound direction
Codes :

(P)
A) (2)
B) 3)
) @

D) 1)

(R)
(4)
(1)
3)
(2)

(S)
(1
(4)
(2)
3)

Q
3)
(2)
(1)
(4)

51.

52.
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o e Ne faY

t forarean Hfaehdi=n Hes 39 feerg

CapED

e

(A) TEEE

(B) 3TI@E

(C) 3HEE

(D) H¥EE

A1 3T ARI-I1 Hefiel S &

et fedtedn Hehdiehm=l ST hEd
FgHh I IS /U

-1
(AeTHg |T=)

(P) % 99

(Q f™= =9

(R) ¥Ma §A

(S) I THeq
arer-11
(foram)

(1) 3 o= 9 feerreor arefyia
ETGI]

(2) TBITATCI™ ThATHIT
(3) o, e Y 9 Wit wfawd
(4) = fegEn sie

Hehdich :

P) Q@ @® ()
A 2 6 @ @
B B @ QO @
< @ O & @
O O @ 2 O
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53.

54.

Match the following Theory

(Column-I) with Theorist (Column-II)
and select the correct answer using
the codes given below :

Column-I
(Theory)
(P) Filter theory
Q)
(R)

(S)

Perceptual load theory
Feature integration theory
Culture and perception theory
Column-II
(Theorist)
(1) Broadbent
(2)
(3) Treisman and Gelade
(4) Richard Nisbett
Codes :
P)
(A) (D)
(B) )
© @ QB QO @
D @ 2 @ O3
Signal detection method can be
applied only when the distribution
stimuli is
(A) Equal
(B) Unequal
(C) Overlapping
(D) Separate

Lavie

(R)
3)
(2)

(S)
(4)
(1)

Q
(2)
(4)

53.

54.

JUN - 13219/I1—B

-1 3for Tqo-11 A=t S[eevit . Jerd
TehdishT=l IR e A I T :

wWY-1
(FagT=1)
(P) esul fagr
(Q) Hos YR fagi
(R) afere wensiieror fagia
(S) wemdt smfr wagH fagma

wWY-11
(Fagiaerr)
(1) sies=
(2) I
(3) feama enfor frame
(4) f== faee
Hehdleh
P @ ® ©
A 1 2 Q) @
B & @ @) @
< @ Q3 QO @
D @O @ @ O
HehaRNe Ugd dealel A Bie ITehd Sieal
S N
(A) FER
(B) STHM
(C) sresifad
(D) A
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55. Which of the following is the correct | 55. W@t feciean mfed) gfsHan greur= I
sequence qf the th.ree process?ng GRS A T S
stages of information processing
model ? (A) Hocd, fofa gfewen omfor sTgfeRen
(A) Perception, decision-making ﬁqs’ é{qu',q| Hrqr,e,“ q\|\y|.-| 32|'|'FU'[
and response selection, response . :
programming and execution

(B) Decision-making and response (B) T ufskan ofor egfRen fere,
selection, response progra- S Wi A S Sie-
mming and execution, nen

. ENIERINES S

perception

(C) Perception, response (C) Taed, Ufehan dsM oAfoT AT
programming and execution, TN vt wREAT St s
decision-making and response ’
selection Fere

(D) Decision-making and response (D) Fofa gfskan ofor egfRen fere,
selection, response progra- ST e Ao e
mming and execution, per- L
ception ENIERINES S

56. “An idea is creative for a particular | 56. “‘sx 9 <& et el T T TEEN

person if that person could not have A a - f m "
Ji9] eﬂga
had that idea before”, this account ANl Rl shel SStRTle ’
of creativity falls in line with which T OoiRiietael auie Sreftetdeh! shiore
of the following theories : faiaiett Gefu o 2
(A) Guilford’s Deterministic theory . .
of creativity (A) TeTRIE= Teieiadan fHeRomees
(B) Amabile’s Componential theory BEAN
of creativity e o~ e a . - .
o o (B) H[ECTE HSRIIAHT ¥deh THGId
(C) Wallace’s Individualistic theory
of creativity (C) = Feieiieta=n s fagrd
(D) Boden’s impossibility theory of NP . - .
.. (D) STETHl |SARIIdHl HAHHA THSId
creativity
27 [P.T.O.



57.

58.

Which among the following brain

areas is/are related to creativity ?
(I) Angular gyrus

(IT) Frontal lobe

(ITI) Fusiform gyrus.

Codes :

(A) Only (II)

(B) Both (I) and (II)

(C) Both (I) and (III)

(D) All (), (II) and (III)

Choose the correct sequence of

communication process
(1) Sender

(2) Encoding

(3) Receiver

(4) Channel

Codes :

A (1), 2), @), 3)

(B) (1), (3), (4), (2)

©) (1), 4), (2), 3)

D) (1), 2), (3), (4)

JUN - 13219/I1—B

d [aV bV o o NN ~ ¥
57. TSHRMIAHIS] EclcTd<h] Agdl enlYidl

O TEfYd e ?
(I) =g gdafa

(I1) 3WEE

(IIT) HEAYTT IR SRR Fafe
Hehdich

(A) ®F (1D

(B) e (I) emfor (ID)

(C) W (I) emfor (IID)

(D) && (D), (1) efor (11

58. WU Wishad 3T ®A ael :

(1) Uk

(2) HeheH

(3) TmEh

(4) =\

Hehdich

(A) (D), (2), 4), (3)
(B) (1), (3), 4), (2)
©) (D), W), (2), 3)
D) (D), (@), (3), (4)
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59. Match List-I with List-IT and select

the correct answer using the codes

given below :
List I
(Name of disorder or
Syndrome)
(P) Asperger’s disorder
@
(R)

Down’s syndrome
Fragile X syndrome
(S) Turner’s syndrome
List II
(Description)

(1) Genetic condition affecting

males causing cognitive

impairment
(2) Trisomy 21 causing MR

(3) Chromosomal condition

affecting females
(4) Difficulty in social interaction
Codes :
P) @ @®
A G @O @@ @
B @ B @ @
< @ @ @O B
O O @ & @

JUN - 13219/11—B

59. A1 3mfor act-1I weflel e o

et foeiedn Fendr ITAN e 3TH
It fae w4 e

TTe-1
(forepeit=t/Hererom=t )
(P) TR forpelt
(Q) T=A Faww
(R) Wosel & HaAem
(S) TR dFas
arer-11
(aut)

(1) Teod TR SHfieh  faed,
e Sifgeh ™ 9 faemm focta
Bl

(2) feamt 21 v AfdHeE 3

(3) foram Sewd o Jer

(4) G STEERRT TS
Hehdih :
P) @
A @& O @ @
B @2 G @ @
< @ @ @® G
O 1O @ @ @

R) ()
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60.

61.

62.

63.

“Automatic thoughts” is a term used
in :

(A) DBT

(B) Hypnotherapy

(C) CBT

(D) Vipassana

In India which is the most common

means of cyber bullying

(A) Phone call

(B) Computer

(C) E-mails

(D) Hand written notes
Who investigated X-ray ?
(A) Wilhelm Roentgen
(B) Merry Annoring

(C) John Baim

(D) William Harney

Symptom of an autistic child is

(A) Hyperactive
(B) Aggressive
(C) Lack of eye contact

(D) Low vision

60.

61.

62.

63.
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“ afferdfees gfe’’, (TR AU fa=m)
B T Eeid SURRUSAd 3Tedd

(A) s
(B) fewiiendt (WHEd SueR)
(C) #H&fa
(D) feraer

TRATT IV FEIER T[S A HeH
;e ?

(A) ®H i

(B) &I

(C) -9

(D) s&fafed feqo

‘g foRTuEn TNy ShIVR weren ?
(A) faem Tesi

(B) T SR

(C) < =™

(D) faeitm =i

THT STeTehT=i Bt
(A) Afafwamia

(B) 3shHSR

(C) SIF HUshidid A

D) =1 gt

30



64.

65.

66.

In which method of decision-making
an option that does not meet the
criterion is eliminated from being
possibility ?

(A) Elimination by probability
(B) Elimination by aspects
(C) Elimination by rationality
(D) Elimination by criteria

Which one of the following methods
is the best estimate of Pearson’s
correlation between residential
status (urban and rural) and
attitude towards higher education
measured by a 20-item Likert
scale ?

(A) Point biserial
(B) Biserial

(C) Tetrachoric
(D) Phi

Which among the following subtests
are not the part of WAIS IV ?

(1) Visual puzzles

(2) Figure weights

(3) Picture arrangement
(4) Object assembly
Codes :

(A) Both (1) and (3) only
(B) (2) and (3) only

(C) (3) and (4) only

(D) (1) and (4) only

64.

65.

66.
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7o gfsharean shivrean dgdl ST 9aig e
qof {d A ST gwre qAtErHYA
IeSAT Sl 2

(A) FUEEIH TR HI
(B) SfesMT T &0
(C) drfhehds T w0
(D) e T2

WeATeAdeh! IO Toh Jgd o) gsi
(3redt efor aretor) enfor S=u fenerom=h
et (S A9or 20-faem deRe
il TG el 3T8) arHeial fusRam
TEGaY™ SUH N TR ?

(A) fag fgamft

(B) fgaof

(C) TTeehIteeh

(D) ®A

EATeTdeh! ShIoTedT =r=rva WAIS-IV =1
SUETEUl R ?

(1) f=s[eta qees
2) PR Jm

(3) fer= wreTht

(4) & Seouit
Hehdleh

(A) ® (1) 3mfor (3)
(B) & (2) 3foT (3)
(C) e (3) =TfT (4)
D) &K (1) 3o (4)
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67.

68.

69.

Situational tests are basically a

measure of ................ behaviour.

(A) Sub-conscious

(B) Unconscious

(C) Self-report of conflict

(D) Problem solving

Processing that begins with the

information reviewed by the

receptors is called

(A) Neural processing

(B) Bottom-up processing

(C) Perceptual processing

(D) Top-down processing

Which of the following is not an

example of Hull’s drive-reduction

theory of motivation ?

(A) When motivation arises as a

result of biological needs

(B) When body actively works to
maintain a certain state of

balance

(C) When human behaviour is

motivated only due to

psychological factors

(D) When human body monitors

and maintains internal states

67.

68.

69.
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qRfterdtST= =m=van g Jord: A1 A
HGT pIdld :

(A) SreeETEEe

(B) TaiHmerEen

(C) womi -3y
(D) THE R

Hfece Feord SIoRT Ffshal ST S
ZIRIgR GATeelehid hall SITd AT
...................... 31@. w.

(A) AoSTEEIEaet Tfsha
(B) 1% gfeka

(C) Hegrd fshan

(D) 3= Hfswa

WTATAUeh! hI0d Th 81 Jreal Jaiel-

&g Yo fagae SeELo e ?

(A) Sifess TRetren aRomd = SRen
qred

(B) SiegT YRR hT&l THAIA STawel
eI fwarser 8

(C) Sieg1 Jell & & ekl AR
Hehies URA B

(D) Sieg1 AHe YRR STae ddes
fraee 9 A wed
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71.

fallacy occurs when it is
assumed that specific conditions are
more probable than a single general

one.
(A) Conjunction
(B) Sunk-cost
(C) Gambler’s

(D) Golden mean

Each of Freud’s stages of personality
development centre around an
important task that requires
resolution. Failure to do this can

lead to :

(1) Fixation

(2) Castration anxiety
(3) a psychosis
Codes :

(A) (1) only

(B) (2) and (3) only
(C) (1) and (3) only

(D) (1), (2) and (3)

70.

71.

JUN - 13219/11—B

TR Tehrgen fafime gffeerd &
ifeer T STHa 3T Siegl TRId
ST Fehl=l hodHl

hESedl Aot fashar=ar s
LT hgEAMHI HEweT 1Y 3TEd i
ST 3T T TS ST, T ST
A W Yoo T -

(1) et

(2) Todr T

(3) GHTERA

Hehdieh

(A) we (1)

(B) w (2) =701 (3)
(C) e (1) 2for (3)

D) (1), (2) 2for (3)
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72.

73.

74.

Which of the following alternatives
is true for the statements of
Assertion and Reasoning ?

Assertion (A) : Kin selection theory
suggests that key goal of all
organisms is getting our genes into
next generation.

Reason (R) : Biological altruism
helps in survival of species.

(A) (A) and (R) are both true but
(R) is the correct reason for (A)

(A) and (R) both are true but
(R) is not the correct reason
for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

€
(D)

The first pioneering experiment in
the field of social psychology was
conducted on ...............

(A) Attitude change
(B) Social facilitation
(C) Social identity

(D) Group behaviour

Noam Chomsky gave the concept
of :

(A) Attachment theory
(B) Object relations approach
(C) Universal grammar

(D) Cognitivist theory

72.

73.

74.
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faum anfor o =1 gevfdier s wata
TR 38 ?

faam (A) : s Trere fagma o™ gfem
FH B T SEa™ T 2§ @d
femed st Sf9 drafad @ ST

HIOT (R) : YST= SHT0GMHEY Sifaeh

Rfgdasil Hed hd.

Gehdieh :

(A) (A) =7f7 (R) S8R §cF 37ed g
(R) T (A) WG T HRU T

(B) (A) 3707 (R) I=E! ¥ 3T g
(R) ¥ (A) I3 3719 HR TG

(C) (A) T 9 3% Wg (R) & 31 HA
3

D) (A) & 3HA AR WY (R) & A
e

IS AMERTETAYE ST WA &
AT T

(A) sfuet sga

(B) 9HIfSeh FehiIshi

(C) | dqI_IeH

(D) T &

M SR W 8 Hehedd Hiedl
(A) Heran fagra (erE=de faedl)

(B) THaw] ¥aY IR ( 3fssire R4
3T9)

(C) afyaesr AR

(D) shenfeqer fagid
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75. The following are negative | 75. @Ela fag & E-mhddl Bofa=
symptoms of schizophrenia : JRd
(1) Thought broadcast (1) fo=mr=n =R
(2) Thought insertion (2) fa=m= g
(3) Alogia (8) WA
(4) Anhedonia (4) TGS
Codes : Hehdiah :

(A) (1) and (2) only (A) W (1) At (2)

(B) (3) and (4) only (B) el (3) 30T (4)

(C) (1), (3) and (4) only (C) ® (1), (3) amfor (4)

(D) (2), (3) and (4) only (D) ®H (2), (3) 3Tfr (4)

76. When a HIV patient does not report | 76, fafyre wHcmadiaed Seal .39 561, &0
in a particular period, this period s Hedlel Higl ohﬁq v-||g:\| aog,| T—ﬁ W%ﬁ
known as ............... TS
(A) Window period (A) e HTATET
(B) Door period (B) TGS Hlcmast
(C) Later period (C) Fd=n et
(D) Initial period (D) URTYF Feras

77. Which of the following is false if 77 W@WWHQ%&@&WW St
Wallach and Kogan’s study on .

Intelligence and Creativity among SO SR AT ST BTt

children ? FE Fehla 7 ?

(A) High creativity-high intelli- (A) =9 TSelerd-3=a g Hﬁ
gence children were socially .. . "
most “healthy” AT e garq ¢ R

(B) Low creativity-high intelligence (B) wHI Heieiierd-s=d gfgrr qa
children were unlikely to forereepTdl odra =2 TEuar=h
engage in disruptive activities

(C) High creativity-low intelligence TR Tl
children were unable to (C) S0 HSieierar-shHT S el ol
concentrate Shicd oA AT 3Ted

(D) Low creativity-low intelligence - &
are socially awkward and often D) -~ g B
distressed o] STEAX ATV ATHSTIH STHAT
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78. Match List-I with List-II and give

your answer using the codes given
below :

List-I
(Type of Reasoning)
(P) Modus ponens

Q
(R)

Modus tollens

Denial of the antecedent

(S) Affirmation of the consequent
List II

(Example)

(1) The switch is not turned on;
therefore the fan is not running.

(2) The switch is turned on;
therefore the fan is running

(3) The fan is running; therefore
the switch is turned on

(4) The fan
therefore the switch is not

is not running;

turned on
Codes :

P @ ® O
A 2 @ @ @
B 2 @ @O O
<o O @ & @
O & @2 O @

JUN - 13219/I1—B

78. IEI-1 01 JET-11 =1 SIS ATl Sl

fededn Hehdishr=al ST F&Ed 3T
S 1

eI
GUET TR Ca)
(P) Wrew Wift
(Q #red et
(R)
(S) TROTH™ STIHGH
Are-11
(3qTEun)

(1) T= =1 s "I, BUE gen

EISGREIE]

(2) f= =1 oelen oTE, WA den
<eTd 3

(3) U@ =e] R, WA fEe =T
EISKC

(4) ven ded e, ®"oE e =
Bl

W :
P) Q@ @R ()

A @ @ @ @

B @ @ @O O

e O @ & @

D B @ QO @

qeldi=l RN
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79.

80.

A young boy who was insulted by
a physically strong boy could not
retaliate but expressed his anger on
physically weaker boy. This is an
example of :

(A) Projection
(B) Sublimation
(C) Displacement
(D) Regression

Match List-I with List-II and select
the correct answer using codes given
below :

List I
(Techniques)
(P)
(8)
(R)
S)

Transference

Word Association Test

Birth order analysis

Psychohistorical analysis

List II

(Psychologists)

Alfred Adler

Erik Erikson

Sigmund Freud

(1)
(2)
3)
4)
Codes :

(P)
A) @)
(B) 3)
) @
D) @)

Carl Jung

(R)
(1)
(1)
(4)
3)

(S)
(2)
(2)
(4)
(4)

@
3)
(4)
3)
(1)

79.

80.
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STRITehgsea Hael A THhT a0 ATl
3T Shell AT TE0 ol el Herre
ST 1’ A1 9SdN Seal B ¥eRd
TE T TRINegs gad Jaa I
R Al § A ISTE0 3R

(A) w&gu
(B) SEiThIO
(C) fowam=
D) i

-1 o 11 Armeiiet Siren e
9 Yeid Hichdlohl=AT SMER IW T ¢

arat-1
@)
(P) wrara¥o
(Q) v wre=d ==
(R) SehH fawerson
(S) #Aferfaes fergeromn
arei-11
(ATTHITTET)
(1) 3The 3SR
(2) TR TR
(3) fave wEs
(4) =1 g
Hehdich :

P Q@ ® O
A @ QG @O @
B & @ @O @
< O 6 @ @
@ 2 @O 3 @
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81. Match List-I with List-IT and select

the correct answer using codes given

below :
List I
(Theorists)
(P) Greenwald et. al

Q
(R)

Ajzen & Fishben
Newcomb & Heider
(S) Leon Festinger
List II

(Theories)
(1) Dissonance theory
(2) Implicit Association Test
(3) Theory of planned behaviour
(4) Balance theory
Codes :

P Q@ ® ©
Aa @ 3 @O @
B) @ B @ @
o O @ @ 3
M & O @ @

JUN - 13219/I1—B

81. Wl fooican Hahdieh=n SYAN e

IEI-1 37for AET-11 Aeftel Sren e :
aret-1
(fagiaenr)
(P) Tieree oMo Hesrl
(Q oI for feherer
(R) ghret 37for gex
(S) fasim ®HESR
AEH-11
(fagia)
(1) foreeme fagm

(2) T Hregdd =TI

(3) TS =d=m=n fagma

(4) Hgem fagma
S
P Q@ @® ©

@a @ & @O @
B 2 6 @ @
< 1 @ @ O
M & @O @ @
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82. Ram Kumar killed his daughter who | 89, T#eAR &= = ga= ARHHRI
married a boy from another et foratg shell; THRAR =T ST
community and had no remorse or FET 3R RS § eEd AT T
guilt for the same, as the marriage IS ST e Teed): e
was unacceptable, which brought W Sl i S A e S
shame _to his commumt}f’ Th_e SIS Sl STHAT. & ScTe STl
appropriate term to explain this | . ... - ’v‘iﬁ‘l‘%{\
behaviour is ..........cce..... '

: . A) RyETRE fm o SRR
(A) Hostile aggression (&)
(B) Instrumental aggression (B) e
(C) Cultural narcissism ©) 3
(D) Cultures of honor (D) FHM HEFl

83. Make the correct sequence of the | 83. Tt = sierfen fershr fegTarean =R
four stages of Piaget’s cognitive = I A o
development theory : e o

(A) 7d o srereen, Wifasw fo=m
(A) Concrete operations stage; .
: : YRUTEE, gTehieh STerel, TgfHeh
preoperational stage; sensori-
motor stage; formal operation ERIEEER
stage (B) IChRe 31T, Hiehfde o=
(B) Sensorimotor stage; preopera- WW&T,@W STEET, WO
tional stage; concrete operation &
stage; formal operational stage
(C) Preoperational stage; concrete (©) an ’tﬁ
operational stage; sensorimotor LT, SIS Reh 3TeEell, Wreifireh
stage; formal operational stage foar 1w
(D) Sensorimotor stage; formal (D) AeTHTE s/Eel, qfas R
operation stage; concrete .
operations stage; preoperational Tf
stage foem RqTerEeT
39 [P.T.O.



84.

85.

The following are sexual disorders :
(1) Frotteurism

(2) Vaginismus

(3) Eclampsia

(4) Erectile dysfunction

Codes :

(A) (2) and (4) only

(B) (1) and (4) only

(C) (1) (2) and (3) only

(D) (1), (2) and (4) only

A class of phenomena characterised
by patterns of positive adaptation in
the context of significant adversity

is known as :

(A) Positive youth development
(B) External adaptation

(C) Resilience

(D) Internal adaptation

84.

85.
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3R

Nda fa fa}

AfiTeh ferehdl

@eitel fashdt &
(1) wiaEm
(2) HESTEAFEAY
(3) UehelftHAT
4) TREd feqraem
Hehdich

(A) ™ (2) 0T (4)
(B) W (1) 3for (4)
(C) w (1) (2) =nfor (3)

D) ®H (1), (2) 30T (4)

AALIONT Ufaehel STl fehell STRerr=

Geufdial HehRIcHs Uf

(A) ThRcHe ey faerg
(B) 9@l WfqarsH
(C) Tgfqeargsa

-~

Sk

(D) 3Tafies wfa
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86. If a researcher is interested in 86. SR U WY Sei o TosuarEl A AHele
finding the relationship between
HeqaY A IR aiesd, SevE
height and running speed of
participants by eliminating the 3HF 3T, R YSH fIgeivumae! shivrdt
influence of age, then which method N N
I5d A 3 Hd 7
would be appropriate for data
analysis ? (A) f&sET=1 Rho
(A) Spearman’s Rho (B) fadit wedsy
(B) Biserial Correlation
(C) =gfay weday
(C) Multiple Correlation
(D) Partial Correlation (D) ST HEHA
87. oo, is an optical illusion of | 87. Segr gftearara I ST=a FiaHl Sele
perceiving a series of still images as ST IR @ e ST
moving when viewed in a rapid
M a.&l. qm ................. 31@ 'I%U]Tﬂ?[.
succession.
(A) FHTR R
(A) Isomorphism
(B) Phi phenomena (B) M "o
(C) Apparent motion (C) T fequmd Tt
(D) Figure ground (D) W‘W
41 [P.T.O.



88.

89.

Which of the following indices are
associated with General Aptitude

Test Battery (GATB) ?

(I) Cognitive

(IT) Behavioural

(IIT) Perceptual

(IV) Achievement potential.
Codes :

(A) (I and (II)

(B) (II) and (IV)

(C) (I and (III)

(D) (I and (IV)

Neuroglia perform the function of :
(A) Sensory impulse transmission
(B) Motor impulse transmission
(C) Chemical buffering

(D) Slowing nerve impulses

88.

89.
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o

@elteTdeh! ivd s GATB a1

TrEiel FEUd sTed ?
(I) YA

(I1) =R

(I11) HogTcHh

V) g favar
Hehdiah :

(A) (D) sfor (ID)

(B) (II) =nfor IV)

(C) (I) smfor (I10)

D) (D) o IV)

Sty g foR uR gredd -
(A) S SraT FHo

(B) & ST GOl

(C) THETh I (Hed HUTE)

(D) =rerm= Al HH HL
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90. Which effect is found only with | 90, =rar uRomy &1 wex TR STEed;
recall and not with recognition ‘T{_gf, G FREE T
tasks ?
(A) afeerdt-stacst Sdr g
(A) Mood-dependent memory effect
(B) Terdi-staerst St gfomd
(B) State-dependent memory effect
(C) X 9RomA
(C) Spacing effect
(D) Cue overload effect D) AR
91. The tests in Torrance Tests for 91, 2RI Teeiel fo=Rr= Sr=v FITEET
Creative Thinking can be scored
for - qTcliehiq shedl Siard 2
(A) Fluency, Flexibility, Originality, _
(A) 9N, erraehdl, Hoodl, TH=Tdl
Differentness
(B) Fluency, Flexibility, Originality, (B) 3aYUN, Siafeehal, Headl, qeiierd
Elaboration
sTfeeRarst, Fataeharl, Feoar, fa=a
(C) Articulacy, Flexibility, © =
Originality, Differentness
(D) Teaar, gaivar, fa=ar, sHE-
(D) Novelty, Rarity, Differentness,
Domain-specificity ferfarsea
43 [P.T.O.



92.

93.

Torrance grouped the different
subtests of the Minnesota Tests of
Creative Thinking (MTCT) into
categories. Which of the following

represent the categories ?

(1) Verbal tasks using verbal

stimuli

(2)

Verbal tasks using non-verbal

stimuli
Non-verbal tasks

3)
(4)

Non-verbal tasks using non-

verbal stimuli
Codes :

(A) (2) and (4) only
(B) (2), (3) and (4) only
(C) (1), (3) and (4) only
(D) (1), (2) and (3) only

Psychologist who believed that the
most fundamental human motive is

striving for superiority is :
(A) Carl Rogers

(B) Carl Jung

(C) Karen Horney

(D) Alfred Adler

92.

93.

JUN - 13219/I1—B

fAger aSareae foamr ==l
(Tm.2rEr.dt) =t cii=ga fafaw
ST e fquri e |
IR hel. WeTeTdsh! v el

o wfaHfee .
(1)

yfsgs Sfeusi=an ST w&A

IMfeger T

aynfesger SfEUesRT=n SUAT HEA

IMfeger T
SNIIECCap]

YNfeger SfEUsRTal STAT Hed

NG I
F'Tzﬁ'cl'l'?ﬁ:
(A) W (2) aAfor (4)

(2)

3)
(4)

(B) e (2), (3) 3MfUT (4)
(C) wa (1), (3) 2MfUr (4)
(D) ®e (1), (2) 370 (3)
HETAE Sl YT & Helid HeTyd S

g 39 favarg 3aom AHRIAE 2

(A) Fred e

(B) Tt g
(C) & '
(D) 3T&hs TSR
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94. Match List-I with List-1I and select | 94, ad1-1 sft ai-1I &1 S[@en o @it

the correct answer using codes given
below :

List I
(Behaviour)

(P) Unacceptable id impulses are

feeiean Hehdmhlqd A W e .
-1
(@)

(P) STHEIHRE TTH AT 9Red

transformed - . - fm
(Q) uRusa acd d sfuga ad-rEl
Movement from mature
@ . . HEEIS
behaviour to immature
behaviour (R) NUeRIudd qreavararT=a a1
(R) To restrict undesirable id SCH SATTEaE! HAaT
i 1 f hi
1mpu_ ses from reaching S uRafs 5 R S
consciousness

(S) Justification of behaviour

T

through the use of plausible RIC{N I |
exceses .
(Feheam)
List II
(1) Yot
(Concepts)
(1) Regression (2) frem wwei
(2) Rationalization (3) SETehTT
(3) Sublimation (4) 3Ty <HA
(4) Repression HaaiE
Codes : ®» Q@ ® ©
P) Q@Q @R (©

Aa & O @ @
B @ & O @
© @ 2 B @
M & @O @ @

A @ O @ @
B @ & @O @
< @ @ @ @
M & O @ @
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95.

96.

97.

The tendency to overemphasise
dispositional or personality based
explanations for behaviour observed
in others and under emphasising
situational explanations is called

(A) Action identification

(B) Observer effect

(C) Fundamental attribution error
(D) Self serving bias

Teacher in her class teaches : “A for
Apple” and each child says “A for
Apple; it is an example of ................

(A) Social learning
(B) Social cognition
(C) Social attitude
(D) Socialization

Which of the following alternatives
is true for the statements of
‘Assertion’ and ‘Reasoning’ ?

Assertion (A) : Psychosomatic
symptoms respond to psychotherapy.

Reason (R) : Physical symptoms
in psychosomatic disorders are not
based on organic pathology.

(A) (A) and (R) are both true and
(R) is the correct explanation
for (A)

(A) and (R) are both true but
(R) 1is not the correct
explanation for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®)
(D)

95.

96.

97.
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RS TR e Lol
3T SEAEE ST FRIETor Svamhian
WS fohal SfRmwara] STemia
ST TqLIHLOME el IeeTe hOTeA]
.............. 34@. w'

(A) Fll ARETHIRI

(B) THieraman afomy

(C) Uryd Uikl ARG

(D) TW-VETRITIMET 3T

Sieg1 Tarferert aia ‘@ TR 3taa ! feTeRerd
9 YA U TR 9’ U, deel
AT A HelYdE

(A) HHINh AT

(B) TS ae

(C) HrHTfsieh  3tfe

(D) THSTY

“faum’ erfor ‘eron = faumEE!
GTeATeTIsh! iUl AT e 3R 2

N N

faam A) : TRfer o= AAET=ERA
G

HIUT (R) : AAefeh fapdiaeial I
far Sifask FRUTHEE 319 wod TR

(A) (A) a1 (R) & S=IE T 3Ted
3o (R) ® (A) & 3T TR0
..

(B) (A) @fur (R) ® SIEEI Hed 3Med
g (R) T (A) o 3TgH SW AR

(C) (A) T ¥ a8 g (R) § 31 A
3Ty

(D) (A) T 31T 3 g (R) T I
3R

46



JUN - 13219/11—B

98. Which of the following is not a | 9 oy TR sasuTTT Ha
correct way to manage cyber .
_ GTATTdeh! ShIvd se” ATl ?
bullying ?
(A) Inform police (A) difqer wifedt <o
(B) Pay no attention towards the (B) ﬂ?:'ﬁ'l’ﬁﬂv@ e 7 20
bullier
(C) Save evidence as proof (C) TUAT =TT JUAT S T
(D) Attack back the bullier (D) {ig|q{ HE[A goedl ch{lﬂ
99. The place of worship of Buddhists 99, sigiem STEN @
is :
(A) ferer
(A) Vihara
(B) Sangama (B) ¥
(C) Stupa (C) 4
(D) Chaitya (D) =™
100. When did the UN General Assembly | 100. & U= AHEST Het 21 S A1
announce 21st June as the ferren fiquredrd Frm fea| sifew
?
International Yoga Day ? w
(A) 21st June, 2014 (A) 21 <[, 2014
(B) 11th Dec., 2014 (B) 11 fe&, 2014
(C) 12th Dec., 2014 (C) 12 |3@aI, 2014
(D) 11th June, 2014 (D) 11 34, 2014
47 [P.T.O.
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ROUGH WORK
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